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QUESTION 1

When gathering requirements for work flows, which business process might require a manager approval?
A. When a business process is defined for an application owner to be notified on account deletions

B. When a business process is defined to approve last name change due to marriage

C. When a business process is defined for an employee vacation request approval

D. When a business process is defined for contractor address change

Correct Answer: A

QUESTION 2

When creating custom entity definitions based on a new customer specific object class, which TWO types of new
entities can be registered in ISIM?

A. Organization and Business Partner Organization entities
B. Person entities and Business Person entities

C. Access and SystemUser entities

D. Account and Service entities

E. Role and Group entities

Correct Answer: CE

QUESTION 3

Which is considered as low-priority service to be deployed in IBM Security Identity Manager?
A. Service with frequent user changes.

B. Service requiring compliance audit.

C. Service with small user population.

D. Service with large user population.

Correct Answer: C

QUESTION 4

A IBM Tivoli Directory Integrator (ITDI> assembly line has been configured as the IBM Security Identity Manager (ISIM)
identity feed. ISIM is setup to only accept connections over SSL using self-signed certificate. What must be done in
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order for ITDI to communicate with ISIM?

A. ISIM\'s self-signed certificate will need to be imported as a trusted signer certificate in the ITDI certificate store.
B. The ISIM default truststore will need to be updated before connections can be made.

C. Since ITDI is a component of the ISIM solution no specific configuration is required.

D. The service in ISIM will need to be configured for SSL.

Correct Answer: A

QUESTION 5

In order to ensure that a customer\\'s ISIM deployment can restore service, which components should be backed up?
A. Directory Integrator. ISIM configuration and customizations, Database Server

B. Database server, Directory Server, ISIM configuration and customizations

C. Directory Server, Database server, Adapter registry. Directory Integrator

D. Adapter registry, Database Server, Directory Server

Correct Answer: C
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